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Abstract

It is necessary to evaluate the operational capability of weapon equipment during its demonstration, however, the data to be dealt is

often not the fighting results data with different sorts, and they are uneasy to fuse. And therefore, a comprehensive method based on TOPSIS, AHP

and Simulation method is built to evaluate the operational capability of weapon equipment(TAS). An example about the operational capability

evaluation on armored equipments under the mission simulation is analyzed, and the evaluation results agree with the fact results. Result shows the

comprehensive method is rather feasible.
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